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Point

1| KE % EANXEVRT =R 5T ZE B 45 6.5 6.5 175
)% T8 |FHTA 6.5 8.5 15
Pl BA  [WaccER 05 2.5 35 8.5 15
4|58 BT =t hT=RISTER 05 2.5 45 45 12
5| X% & EANXEVRT =R 5T ZEH 25 45 45 115
6|NEE EE |ZBRERT-XI5T 45 25 25 9.5
7| AH % |MSSIER 85 85
S8IA\K AR |IN—EIrT=RHISTE 0.5 45 25 75
9|EfE M [ERILT=RY5T 15 2.5 25 6.5
10|ER BE |41 VESFTCEER 0.5 0.5 25 25 6
N|ES ZH [FEEAE2—FarL 45 45
12|A% & FAXEVRT=RISTEE 35 05 4
13|EH —8 [T=RA—TUEE 3.5 35
F4R B3| F—LYAMATO 25 0.5 05 35
BA 3B |4 VYEVFTCEER 25 0.5 05 35
WO B= |YELL Tennis Academy 35 35
17|55 ERILT=R95T 25 05 3
BEEBX [1=—URZALTA 05 25 3
JEal=: R FAYEVRTZRZER 05 0.5 15 0.5 3
20|/ FizE  [O's 25 25
K #EX | L—t b T=RISTER 25 25
KiF 2F | FHTA 25 25
KIg 1% |2A=—YREAILTA 05 0.5 15 25
EB BX | YELL Tennis Academy 15 0.5 05 25
UM METE [FHTA 25 25

26| TH HE [1=—URZAILTA 15 0.5 2
piie g ZRT=R957 0.5 15 2
#FAREIS  [A=Z—VREAILTA 05 1.5 2
K B{Z [TN-21 05 0.5 0.5 0.5 2
AEFE BR(IL—EVNTZRISTER 1.5 05 2
FH/O0BA | T=AA—TUEE 05 05 0.5 0.5 2
32|3T 1& ERT_AFHTI— 1.5 15
Wik ZX  [F1VEVFTCEER 15 15
A EH | IL—t b T=RISTER 0.5 05 05 15
XA ibhE [IL—EUNT=RISTER 05 0.5 05 15
AtE BS |ERILT=RI5T 15 15
B | T=AA—TUEE 15 15
38K BX  [A=—VREAILTA 0.5 05 1
$A %3 [MssiER 05 0.5 1
RO EH  [|WaccER 0.5 05 1
AR #7% | YELL Tennis Academy 05 05 1
LA EH |1=—YREA(ILTA 0.5 0.5 1
B E [N—FR—L 0.5 0.5 1
X8 58 F [MsSiER 05 05 1
1B U &Y |YELL Tennis Academy 0.5 0.5 1
il Bx  |MSSiER 05 0.5 1
473RA B¥ [T7AILTFC 0.5 0.5
D [2=—ORESILTA 05 05
&0 B [MSSIER 0.5 05
B e |[FRT-RI5T 05 05
gk FKR VI IVRER 0.5 0.5
LA E [1=—JREAILTA 0.5 0.5
BB ER | FRT-RXTATI— 05 05
BLED [2=—9REA/LTA 05 05
HEBEH | N—EIrT=RXHISTER 0.5 0.5
1B |F-LYAMATO 0.5 0.5
iR RK [FM1VYELFTCEER 05 0.5

¥ EBA |TSE 0.5 0.5
=5 HE  [MSsER 05 0.5
THEED |L—E rTZRHISTER 05 05
WEREEE |FAVEVRT=RHST 0.5 0.5
gk AR BFEAVRT7T=R95T 05 0.5
thft &4t | YELL Tennis Academy 05 0.5
B Bit [TFETA 05 0.5
W AR |I=—VREALTA 05 0.5
Fl& 8% [YELL Tennis Academy 0.5 0.5
AT E YELL Tennis Academy 0.5 0.5
TR BE|1=—Y7RA2(ILTA 0.5 05
1=—H54)LTA 05 0.5

d=—4H A/ JLTA 0.5 0.5

L=t hNTF=RISTRR 0.5 05

L=t hNTF=ROSTRR 0.5 05

L=t hNTF=ROSTRR 0.5 05

avyryRE 0.5 0.5
FERT=R957 0.5 05

FAILTFC 0.5 05

L=t hNTF=ROSTRR 05 05

FAILTFC 0.5 05

FAILTFC 0.5 05

FAILTFC 0.5 05

MSSIE[R 05 0.5




